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2. Inthe arrangement of the letters given, how many different paths will spell each of the following names?

a) PASCAL b) BLAISE B c) EULER E
P L L
A A U U
S S . A A A
I I I I L
C C C C

A A A A A S S 5 E E

L L L L L L E E R

10. Evaluate the following:
8 b 5 4
o e s 9o

11. Find the numberin Pascal’s Triangle given the following information about the row and position:
a) Row 12, Position 9

b} Row 1, Position0 A
c) 3rd Row, 2™ Position Answers
2. a) 32 b) 20 c)d

d} NinthRow, Ninth Position

10.a) 28 by 1 1
11.a) 220 b) 1 )2 d) 1
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** Use ,C. rather than Pascal's triangle when finding coefficients.
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6. Expand and simplify each of the following. : 40 80 80 32
) (o= 2) .1 R R
. T2 (b} (in + \/-y) S 165 4+ 320V + 24x%y + 8OV +
1085  B1p*
4 PR P
©) (a2 + 3{’) 4 ('\/E _ _\_Z;W_)G (€ af + 120% + Saa? + = + =
a : :
* (d)xi—;hz+mx—isﬂ+@~£§
: X X
7. I'f?fﬁd\ the first four terms in the expansion of each of the following, + %
a) {a+b)o _
@ )2 g ® a ) 7. {a) " + 102 + 454 + 1200767 + ...
0) (xﬂ + —) (d (2:: _ 3y o)1 = 1T+ 6Gr - 2200t + ...
- # x? S (o) + 18 4 14410 + 672 + ..
(®) (x3 - —25)6 : (f) (x N \/E)“ (d) 256:* ~ 30722 + 16 1282 — %35_4 + o
. x ! :
' (&) ¥ - 120 4 608 — 1600 + ...

(F) ™ + 11V + 55x07 + 165V + L.
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